FRANKLIN PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		40,139.0	950.00	38,132,050	lbs.	\$17,159,423
Lint - Non-irrigated (Total)		21,614.0	525.00	11,347,350	lbs.	\$5,106,308
Cotton (Total)	90	61,753.0				\$22,265,730
FORESTRY						
Pulpwood						
Pine				1,570	cords	
Hardwood				6,412	cords	
Pulpwood (Total)				7,982		
Chip & Saw (Total)				227	cords	
Saw Timber						
Pine				158,284	board feet	
Hardwood				803,184	board feet	
Saw Timber (Total)				961,468		
Total Pulpwood, Chip & Saw,						\$1,042,274
Saw Timber FOB Mill						
Total Forestry Stumpage						\$464,676
(Total)						
Forestry (Total)						\$1,042,274
FRUITS						
Figs (Total)	*	2.0	600.00	1,200	lbs.	\$2,100
Fruits (Total)		2.0				\$2,100
FEED GRAINS						
Corn (Total)	75	29,985.0	145.00	4,347,825	bu.	\$9,521,737
Grain Sorghum (Total)	6	1,465.0	50.00	73,250	cwt.	\$262,235
Oats (Total)	*	461.0	80.00	36,880	bu.	\$68,966
Feed Grains (Total)		31,911.0				\$9,852,937
HAY FOR SALE						
Grass (Total)	50	5,000.0	2.00	10,000	tons	\$600,000
Hay for Sale (Total)		5,000.0				\$600,000
Home Gardens (Total)	1,500					\$390,000

PECANS							
Improved (Total)	7	876.0	625.00	547,500	lbs.	\$711,750	
Native (Total)	45	20.0	120.00	2,400	lbs.	\$2,160	
Pecans (Total)		896.0				\$713,910	
Rice (Total)	*	1,402.0	46.00	64,492	cwt.	\$454,669	
Sod Production (Total)	*	180.0			acre	\$1,080,000	
Soybeans (Total)	150	50,380.0	42.00	2,115,960	bu.	\$12,505,324	
SWEET POTATOES							
Canning (Total)				232,415		\$464,830	
Fresh (Total)				1,317,016		\$19,425,986	
Sweet Potatoes (Total)	*	4,797.0	323.00	1,549,431	bu. (50 lbs.)	\$19,890,816	
VEGETABLES							
Lima Beans							
Fresh	*	25.0	90.00	2,250	bu. (32 lbs.)	\$78,750	
Lima Beans (Total)		25.0				\$78,750	
Southern Peas (Fresh) (Total)	*	10.0	70.00	700	bu. (24 lbs.)	\$17,500	
Sweet Corn (Fresh) (Total)	*	5.0	833.00	4,165	doz. ears	\$14,578	
Tomatoes (Field) (Total)	*	0.5	750.00	375	lugs (20 lbs.)	\$7,500	
Watermelon (Total)	*	109.0			cwt.		
Vegetables (Total)		149.5				\$118,328	
Wheat (Total)	50	12,030.0	60.00	721,800	bu.	\$2,367,504	
TOTAL ALL PLANT ENTERPRISES						\$71,283,591	
FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE						
Catfish (Farm) (Total)	7	4,500 Acres in Pro	d. 22,500,000	lbs.	\$15,750,000	
Minnows (Total)	*	1,300 Acres in Pro	d. 650,000	lbs.	\$1,950,000	
Alligators (Farm) (Total)			38,532	ft.	\$963,300	
Turtles (Total)	*		60,000	each	\$27,000	
Aquaculture (Total)					\$18,690,300	
Fur Animals (Total)			250	pelts	\$2,425	
Alligators (Wild) (Total)			30	ft.	\$900	
HUNTING LEASES						

FRANKLIN PARISH

	Number of	Units of	Total	Units of	Gross Farm
Fisheries	Producers	Production	Production	Measure	Value
	Troducers	Troduction	Troduction	Wiedsure	varue
HUNTING LEASES	10	1 (00 N			ф11 2 0/
All Other Game (Total)	12	1,600 No. Acres Leased		acre	\$11,200
Hunting Leases (Total)					\$11,200
TOTAL ALL FISHERIES & W.	ILDLIFE ENTERPRISES				\$18,704,825
		IAL ENTERPRISES PRODUCTI	ION		
	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,700	head	\$906,245
400-500 lbs.			2,000	head	\$1,210,230
500-600 lbs.			750	head	\$492,814
600-700 lbs.			500	head	\$368,420
Steer Calves (Total)					\$2,977,708
Heifer Calves					
300-400 lbs.			1,800	head	\$841,995
400-500 lbs.			1,900	head	\$1,039,424
500-600 lbs.			650	head	\$402,760
600-700 lbs.			40	head	\$27,908
Heifer Calves (Total)					\$2,312,086
Yearling Cattle					
600-700 lbs.			500	head	\$3,088
700-800 lbs.			1,200	head	\$8,010
Yearling Cattle (Total)					\$11,098
Cow-Calf Pairs (Total)			1,000	pair	\$979,130
Cull Cows (Total)			1,300	head	\$515,262
Cull Bulls (Total)			50	head	\$46,403
Cattle & Calves (Total) HORSES	300	13,000 No. Cows			\$6,841,686
110110110					

HORSES						
Race Horses	*	4	No. Brood Mares	1	head	\$8,000
Show Horses	*	50	No. Brood Mares	35	head	\$140,000
Recreation Horses	50	125	No. Brood Mares	90	head	\$135,000
Brood Mares (Total)						\$283,000
Stud Fees						
Show Horses		7	No. Stallions	120	mares bred	\$180,000
Recreation Horses		5	No. Stallions	15	mares bred	\$7,500
Stud Fees (Total)						\$187,500
Race Horses (Total)	*			11	head	\$132,000
Show Horses (Total)	17			40	head	\$200,000
Recreation Horses (Total)	600			1,300	head	\$1,950,000
Horses (Total)						\$2,752,500
GOATS						
Slaughter Goats (Total)				25	head	\$2,713
Stocker Goats (Total)				30	head	\$2,595
Cull Goats (Total)				50	head	\$3,000
Goats (Total)	*	35	No. Does			\$8,308
SWINE						
Show Pigs (Total)				600	head	\$171,000
Feeder Pigs (Total)				200	head	\$6,240
Slaughter Hogs (Total)				200	head	\$26,130
Culls (Total)				35	head	\$5,880
Swine (Total)	*	50	No. Sows			\$209,250
TOTAL ALL ANIMAL ENTERP	RISES					\$9,811,744

FRANKLIN PARISH \$99,800,160 127